

NAME: Daniel Chwo

DEPT: Elect/Elect

MATRIC: 16/ENGO4/044

COURSE: ENG 381 [Assignment 2]

1.

$$y = e^{x^2+x}$$

$$\text{let } u = x^2+x, \quad y = e^u$$

$$\frac{dy}{du} = e^u \quad \frac{du}{dx} = 2x+1$$

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$$

$$\frac{dy}{dx} = (2x+1) \cdot e^u$$

$$\frac{dy}{dx} = y' = (2x+1) \cdot e^u$$

$$y' = (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = \frac{d}{dx} [(2x+1) \cdot e^{x^2+x}]$$

Using product rule

$$u = 2x+1 \quad v = e^{x^2+x}$$

$$\frac{du}{dx} = 2, \quad \frac{dv}{dx} = (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = v \frac{du}{dx} + u \frac{dv}{dx}$$

$$\frac{d^2y}{dx^2} = (2x+1) \cdot (2x+1) \cdot e^{x^2+x} + e^{x^2+x} \cdot 2$$

recall,  $y' = (2x+1) \cdot e^{x^2+x}$

$$\frac{d^2y}{dx^2} = (2x+1) \cdot (2x+1) \cdot e^{x^2+x} + 2e^{x^2+x}$$

$$y'' = (2x+1) \cdot y' + 2y$$

Hence,

for  $w^{(n)}$

$$u = y^{(2n)}$$

$$u^{(n)} = y^{(n+2)}$$

$$v = 1$$

$$v^{(n)} = 0$$

From Leibniz

for  $w_2^n$

$$u = y^{(n)} \quad v = 2x+1$$

$$u^{(n)} = y^{(n+1)} \quad v^{(n)} = 2$$

$$u^{(n-1)} = y^{(n)} \quad v^{(2)} = 0$$

For  $w_2^1$

$$u = y \quad v = 2$$

$$u^{(n)} = y^{(n)} \quad v^{(1)} = 0$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + n^2 y^{(n)} + 2y^{(n)}$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + 2y^{(n)}(n+1)$$

$$\text{Hence, } y^{(n+2)} = y^{(n+1)}(2x+1) + 2(n+1)y^{(n)}$$

2. Using Leibniz theorem

$y = x^3 e^{4x}$  determine  $y^{(n)}$

$u = e^{4x}$

$v = x^3$

$u^{(n)} = 4^n e^{4x}$

$v^{(0)} = 3x^2$

$u^{(n-1)} = 4^{n-1} e^{4x}$

$v^{(1)} = 6x$

$u^{(n-2)} = 4^{n-2} e^{4x}$

$v^{(2)} = 6$

$u^{(n-1)} = 4^{n-1} e^{4x}$

$v^{(3)} = 0$

$$y^{(n)} = u^{(n)} v + n u^{(n-1)} v^{(1)} + \frac{n(n-1)}{2!} u^{(n-2)} v^{(2)} + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v^{(3)}$$

$$y^{(5)} = 4^5 e^{4x} \cdot x^3 + 5 \cdot 4^4 e^{4x} \cdot 3x^2 + \frac{5 \cdot 4^3}{2!} e^{4x} \cdot 6x + \frac{5 \cdot 4 \cdot 3}{3!} e^{4x} \cdot 6$$

$$y^{(5)} = 1024 x^3 e^{4x} + 3840 x^2 e^{4x} + 3840 x e^{4x} + 960 e^{4x}$$

$$y^{(5)} = 45 e^{4x} (16x^3 + 60x^2 + 60x + 15)$$

$x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$

$x^2 y'' + x y' + y = 0$

For  $w_1$

$u = y^2$

$v = x^2$

$u^{(n)} = y^{(n+2)}$

$v^{(1)} = 2x$

$u^{(n-1)} = y^{(n+1)}$

$v^{(2)} = 2$

$u^{(n-2)} = y^{(n)}$

$v^{(3)} = 0$

For  $w_2$

$u = y$

$v = x$

$u^{(n)} = y^{(n+1)}$

$v^{(1)} = 1$

$u^{(n-1)} = y^{(n)}$

$v^{(2)} = 0$

For  $w_3$

$u = 1$

$v = 1$

$u^{(n)} = 0$

$v^{(0)} = 0$

$$w_1^{(n)} = u^{(n)} v + n u^{(n-1)} v^{(1)} + \frac{n(n-1)}{2!} u^{(n-2)} v^{(2)} + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v^{(3)}$$

$$w_1^{(n)} = y^{(n+2)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1)}{2!} y^{(n)} \cdot 2$$